Mathematics 172

Quiz # 28

Name:

You must show your work to get full credit.
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For the phase space above, Circle one:
2 dominategl y dominates,
competitive coexistence, competitive exclusion.

If 2(0) = 600, y(0) = 20 then
£(100) = 1050 y(100) ~ O

If z(0) = 600, y(0) = 0 then
£(100) = 16%Y y(100) ~ __ ©
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For the phase space above, Clrcle one:

x dominates, ¢

competitive coex1stence, competitive exclusion.

If z(0) = 600, y(0) = 20 then

5(100) ~ __ O, y(100) ~ _57&
If (0) = 600 6 =0 then
100 (100)
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For the phase space above, Circle one:
x dominates, y dominates,
@nﬁtitive coeﬁ@ competitive exclusion.
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If z(0) = 600, y(0) = 20 then
2(100) = 175 , 1(100)

If z(0) = 0, y(0)
z(100) ~ _D _, y(100)

6%\ 1050
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For the phase space above, Circle one:

x dominates, y dominates,
competitive coexistence, gdmpetitive exclusion.

If z(0) = 600, y(0) = 20 then
2(100) ~ _(e€y(100) ~ _O

If z(0) = 0, y(0) = 600 then
m(léog ~ _Cy>_ y(100) =~ G2



